FE431: PUBLIC FINANCE

Fall 2006

Professor Schmitt

Homework 10 – due December 4th  

1. Questions and Problems Chapter 12, page 329 #4

Restrictions on pre-existing conditions remove the ability for insurance companies to cherry pick in the face of adverse selection. Similarly, portability laws reduce the lock-in effect of poor health on jobs. Medical savings accounts, which include catastrophic health insurance along with a cash account to use for out-of-pocket health care expenses, remove the third-party payer and create incentives for health care consumers to restrain costs. The various proposals for a Patients’ Bill of Rights (summer 1999) for health care consumers with HMO plans provide for certain guaranteed levels of service in light of the imperfect information surrounding health care and the limited competition. The proposed expansion of Medicare for individuals retiring before age 65 and the addition of prescription coverage for all Medicare recipients address the lack of insurance markets for this sector of society.

2. Questions and Problems Chapter 14, page 382 #1

Retirement insurance. An information problem in retirement insurance markets leads to adverse selection. Individuals who believe they will live especially long are most likely to want insurance, and the insurance company cannot distinguish these from other customers. In a broader definition of market failure, we may feel that retirement insurance is a merit good people choose too little of. An alternative program that would address both problems is for the government to require insurance coverage but not provide the insurance. As in auto insurance markets, companies could be regulated so that high-risk cases were spread among companies, perhaps at rates that favored these groups if redistribution was desired. An advantage is that competitive forces could help to keep the system efficient and adjust the benefits offered to better suit the tastes of the public.

Survivors insurance. Some people do not buy survivors or life insurance, leaving it to the public to support the indigent elderly. If survivors’ benefits are viewed as a merit good, then an alternative program would be to provide these through a welfare program rather than a quasi-insurance program. An advantage would be that the program would cost less, since payments would go only to the poor.

Disability insurance. Information problems are important here. It is hard for a third party to know how dangerous a particular workplace is. Having disability insurance provided by the employer would internalize this problem, but the worker is left with an unacceptable level of risk should there be a possibility of bankruptcy of the employing firm. Merit good arguments are relevant here as well. An alternative program could require firms to provide acceptable disability insurance to employees as well as insurance for themselves, so that in case of bankruptcy, disability payments would continue. An advantage may be that it is easier to estimate a firm’s likelihood of bankruptcy than to observe its safety standards. A greater advantage is that the firm must bear the cost of accidents on its premises, and this internalization will lead it to an efficient level of safety precautions.

3. Indicate whether the following statement is true, false, or uncertain, and explain your answer. If a food-stamp program allocates $100 worth of food stamps to needy families each month, then any family who consumes more than $100 worth of food each month under the program would be indifferent between the food stamps and $100 cash. 

True, False, or Uncertain; any family who consumes more than $100 worth of food under the food stamp program should theoretically consume the same combination of food and all other goods if they were given $100 cash instead. This is because the effect of the food stamps or cash on the family’s budget constraint is identical in this range. The one exception would be if use of food stamps is somehow embarrassing or degrading to the recipients. Then they may prefer cash.

4. Sarah has two children, Hannah and Rebecca, who receive a weekly allowance. This week Sarah has $40 to allocate between her two children. Sarah believes that Hannah has utility of income, 
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a) What is the optimal distribution of the allowance if Sarah follows a utilitarian philosophy of social welfare (that is, if the social welfare function is additive)?

If Sarah is a utilitarian, she believes that social welfare is the sum of the two girl’s utilities. To maximize social welfare, she should allocate the $40 such that the marginal utility of income is equal for both (or maximize the sum of utilities subject to the $40 income constraint). Hannah’s MU = 10. Rebecca’s MU = 50 – 4IR. Setting these equal, we find that IR* = 10. That is, Sarah will give Rebecca $10, which lowers her MU to that of Hannah. Then Sarah gives Hannah the remaining $30.

b) What is the optimal distribution if the social welfare function is W=min(UH , UR)?

Sarah wants to maximize the utility of the girl with the lowest utility. This case requires the girls’ utilities to be equal (otherwise Sarah should reallocate $ from the girl with the higher utility to the girl with the lower utility.) Setting the utilities equal
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and using the constraint
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you can solve for IH and IR. You get two sets of solutions:

(IR* = 20, IH* = 20)
(IR* = 10, IH* = 30)

The first of these yields U=200 for both individuals.

The second yields U=300 for both. Therefore, (IR* = 10, IH* = 30) is the optimal solution.
c) Finally, assume that Sarah gives all $40 to Hannah, but Hannah’s utility depends on Rebecca’s utility. Specifically, assume Hannah’s utility is given by:
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is Rebecca’s utility. What, do you predict, will Hannah do with the money? Be as specific as possible.
Starting with $40, Hannah can increase her utility by giving some $ to Rebecca. Note that Hannah’s marginal utility from Rebecca’s income (25 – 2IR) is greater initially than her marginal utility from her own income (10). She will give Rebecca $ until 25 – 2IR = 10. Thus, she will give Rebecca $7.50 and keep $32.50.

5. Currently Bob is earning $1000 in income per month. The price of housing for Bob is $2 per square foot and the price for all other goods is $1. Bob’s utility for housing and all other goods is given by 
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(where H denotes 1 square foot of housing and G denotes 1 unit of all other goods). What is Bob’s optimal consumption of housing and all other goods?

Bob will maximize his utility subject to his budget constraint. This is 
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Solving the budget constraint for G and substituting into Bob’s utility
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a) If the government provides a housing subsidy of $400 for each person earning less than $1500 a month in income, what happens to Bob’s consumption of housing and all other goods (show graphically).

Since Bob is already buying 300 square foot of housing, he is spending $600 on housing. Therefore, this can be viewed as an increase in income of $400.

Bob will maximize his utility subject to his budget constraint. This is 
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Solving the budget constraint for G and substituting into Bob’s utility
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b) If, instead Bob’s utility was given by 
[image: image14.wmf]H

HG

U

B

800

-

=

, what would his optimal consumption of housing and all other goods with and without the $400 housing subsidy?

Without the subsidy Bob will maximize his utility subject to his budget constraint. This is 


[image: image15.wmf]H

G

H

U

B

800

-

=

 subject to 
[image: image16.wmf]G

H

G

P

H

P

I

G

H

+

=

=

+

=

2

1000


Solving the budget constraint for G and substituting into Bob’s utility
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With the subsidy, he will be “forced” to consume $400 worth of housing (so 200 units) and he only wanted to consume $100 worth (50 units).
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c) Because both cost the government the same amount ($400), assuming there are no administrative costs, is the program efficient regardless of Bob’s preferences? Explain.

Both cost the government $400, but Bob would be on a higher indifference curve with $400 if he had the preferences in part b. So, with no administrative costs, $400 in cash is preferred when Bob has preferences in part b. With the preferences in part a, he is indifferent.  The housing subsidy might show paternalism.
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